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BFEM ACD and XGT PHAs
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PHA for Tile 000 Mean = 256.4 PHA for Tile 001 Mean = 261.5 PHA for Tile 010 Mean = 233.1 PHA for Tile 011 Mean = 2525
. RMS = 164.4' a RMS = 176.7| 4 SF RMS = 168.4| 4 LF RMS = 187.2'
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PHA for Tile 100 Mean = 304.7 PHA for Tile 110 Mean = 263.2 PHA for Tile 200 Mean = 2804 PHA for Tile 210 Mean = 306.6
3 RMS = SOZ.GI q RMS = 222.1' a LF RMS = 248.2' a JF RMS = 320.2'
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PHA for Tile 300 Mean = 291.5 PHA for Tile 310 Mean = 232.1 PHA for Tile 400 Mean = 259.8 PHA for Tile 410 Mean = 237.3
3 RMS = 270.4' q RMS = 155.8' a LF RMS = 254.6' a oF RMS = 148.6'
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PHA for Tile 1000 Mean = 347.4 PHA for XGT 000 Mean = 182.5 PHA for XGT 001 Mean = 201.5 PHA for XGT 002 Mean = 192.1
3 RMS = 248.4I 4 RMS = 4.843I 4 LF RMS = 7.839' 4 LF RMS = 0.612'
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PHA for XGT 003 Mean = 188.7 PHA for Dead Mean = 260 PHA for Spare 1 Mean = 196.7 PHA for Spare 2 Mean = 198.6
. RMS = 6.956' 4 RMS = 8.548' 2 LF RMS = 0.84 I a4 SF RMS = 2.587'
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PHA for Cable5 PMTO gmean = 0 PHA for Cable5 PMT1 gvean = 0 PHA for Cable5 PMT2 gMean = 0 PHA for Cable5 PMT3g[Mean = 0
s RMS = 0 I a | RMS = 0 I a . RMS = 0 I q RMS = 0 I
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